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Exercice #7-2

Modify your class SavingAccount by allowing the externd function that

calculates the annual interest to access al the classe’s members (private and

public)
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SavAcct.cpp

SavAcct.h

#i f ndef SAVACCT_H
#defi ne SAVACCT H

cl ass Savi ngAccount {

private:
unsi gned acct Nbr;
doubl e annual | nt er est Rat €;
doubl e bal ance;

publi c:
friend doubl e cal Anl I nt (Savi ngAccount &) ;
Savi ngAccount () ;
Savi ngAccount (unsi gned, doubl e, double);

voi d set Account (unsi gned, doubl e, double);
voi d debTrans(doubl e amt);

voi d crdTrans(doubl e amt);

unsi gned get Acct Nor () const;

doubl e get Rate() const;

doubl e get Bal ance() const;

voi d set Acct Nor (unsi gned) ;
voi d set Rat e(doubl e);
voi d set Bal ance(doubl e);

s
#endi f

#i ncl ude <i ostream h>
#i ncl ude "SavAcct. h"

Savi ngAccount : : Savi ngAccount () {
set Account (0, 0.0, 0.0);
}

Savi ngAccount : : Savi ngAccount (unsi gned nbr,
doubl e ammt, double rate){

set Account (nbr, amt, rate);
}

voi d Savi ngAccount : : set Account (unsi gned nbr,
doubl e ammt,
doubl e rate){
set Acct Nor (nbr) ;
set Bal ance(amt ) ;
setRate(rate);

}

voi d Savi ngAccount : : set Acct Nor (unsi gned nbr){
acct Nor =nbr >1000 &&nbr <10000 ? nbr: O;
}

voi d Savi ngAccount : : set Bal ance(doubl e ammt) {
bal ance = aimmt > 0.0 ? ammt : 0.0;
}

doubl e Savi ngAccount:: get Rate() const {
return annual | nt erest Rat e;
}
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C A+t :

voi d Savi ngAccount: : set Rate(doubl e rate) {
annual I nterest Rat e
(rate > 0.0 && rate <=100) ?

rate : 0.0;

}

unsi gned Savi ngAccount :: get Acct Nor () const {
return acct Nbr;
}

doubl e Savi ngAccount : : get Bal ance() const {
return bal ance;
}

voi d Savi ngAccount: : debTrans(doubl e amt) {
ammt amt > bal ance ? ammt 0. 0;
bal ance -= amnt;

}

voi d Savi ngAccount: : crdTrans(doubl e ammt) {
amt amt > 0.0 ? amnt 0.0,

bal ance += ammnt ;
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Prog.cpp

#i ncl ude <i ostream h>
#i ncl ude <i omani p. h>
#i ncl ude " SavAcct. h"

voi d debi t (Savi ngAccount &) ;

voi d credit(Savi ngAccount &)

voi d nont hl y( Savi ngAccount &) ;
voi d annual ( Savi ngAccount &)
doubl e cal Anl I nt ( Savi ngAccount &)
doubl e cal Monl nt ( Savi ngAccount &)
int get Choice();

void main() {

}

Savi ngAccount acct One(32123, 20000. 55,

3.0);
nt choi ce;

cout << setiosflags(ios::showpoint |

ios::fixed) << setprecision(2);

choi ce = get Choi ce();
whi | e(choi ce >=0 && choi ce <=3) {

}

switch (choice) {
case 0:debit(acct One);
br eak;
case l:credit(acctOne);
br eak;
case 2: nonthly(acct One);
br eak;
case 3: annual (acct One);
br eak;
)

choi ce = get Choi ce();
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int get Choice() {

int choi ce;

cout <<"\nEnter: \n"
<< "\t 0) Debit Account.\n"
<< "\t 1) Credit Account.\n"
<< "\t 2) Calculate Monthly Interest.\n"
<< "\t 3) Calculate Yearly Interest.\n"
<< "\t 9) Exit" << endl;

cin >> choice;
return choice;

}

voi d debit (Savi ngAccount &acct) {
doubl e ammt ;

cout << "Enter anpunt to debit: ";

cin >> ammt;

acct. debTrans(amt) ;

cout << "Account #: " <<acct.getAcctNor();

cout <<"\nBal ance :$ " <<acct. getBal ance();

cout << endl;
}

voi d credit(Savi ngAccount &acct) {
doubl e ammt;

cout << "Enter anount to credit: ";

cin >> ammt;

acct.crdTrans(amt) ;

cout << "Account #: " << acct.getAcctNor();

cout <<"\nBal ance :$ " <<acct. getBal ance();

cout << endl;
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voi d nont hl y( Savi ngAccount &acct) {

cout << "Account #: " << acct.getAcctNbr();
cout <<"\nBal ance :$ " <<acct. getBal ance();
cout << "\nRate :$ " << acct.getRate();

cout << "\nlnterest :$ " << cal Monlnt(acct);
cout << endl;

}

voi d annual ( Savi ngAccount &acct) {
cout <<"Account #: " << acct.getAcctNor();
cout <<"\nBal ance :$ " <acct. getBal ance();
cout <<"\ nRate :$ " << acct.getRate();
cout <<"\nlnterest :$ " << cal AnlInt(acct);
cout << endl;

}

doubl e cal Anl I nt ( Savi ngAccount & acctRef) {
return acct Ref. bal ance *
acct Ref . annual I nterestRate / 100. O;

}

doubl e cal Monl nt ( Savi ngAccount & acctRef) {

}

return cal AnlInt(acctRef) / 12;




